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Function Inverses

State if the given functions are inverses.

D g(x)=4—-§~x

flx)= “1"364%
Y fl=="0
| g(n)z’4n+ 16

5 fln)=-(n+1)°

g(n)-—-3+n3
7 flx)= LA
~x-2
1
h(x)__x+3

¥ind the inverse of each function.

9) hx)=Vx -3

11) Alx)=2x"+3

Name

Date

Period

6) fln)=2(n-2)’
gln) =21 Van

2
8 glx)=—=-1
Flo)=- 2

x+1

i
m)ﬂﬂ=;~2

12) glx)=—4x+1



Tx+ 18 14 flx)=x+3

13) g(x)

15) flx)=-x+3 16) flx)=4x

Find the inverse of each function. Then graph the function and its inverse,

1 1
17) flx)=—-1-—x 18) glx)=—-
5 - x-1
22 4r
| 5
j 2
T T
¥ 5 & -0 - T i 7 s s e 1 RN >
=1
" B
3
3 —_— —
19) flx)=-2x"+1 20) glx) =222
3
n
; 5 7 Ay
) 5
3 =
Qe TR 6 >x < 1 >
— S T “x
== t
_; 4
. —
Y =
¥
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Function Inverses

State if the given functions are inverses.

3
1) g(x)=4—-2—x

1 3
f(x) =Ex+5

MNo

—-l6+n

3) fln)=
g(n) =4n+ 16
Yes

5 fn)=~(n+1)’

g(n)=3+n3
Mo
7 flx)= LA
~-x—=2
1
Alxj=-—
(X) x+3
™o

Find the inverse of each function.

9) hlx)=Vx -3

B f\i ={r+3}

Period

Name
Date
~12 —2n
2) gln)=
3
-5+ 6n
fln)= ;
Mo
4 16
4 =y ——
) flx) ~x=
3 3
glx) = S5
No

3
4+ N4dn
gln) = 5
Yes
2
8 glo)=—=-1
2
fle)=-
x+1
Yes

1
m)ﬂﬂ=;—2

B¢
e
i

e

s

12) glx)=—-4x+1
1

T i
Hylm -ty —
2 ix) —x+ =

hesd =



_ 7x+18 14y flx)=x+3

13) glx)
FHe)=x-3
}_.1{.'-%;-\ _ Zx~ i8
§ )=
15) flx)==x+3 16) f(x)=4x
S M) = —x 3 Y=t

Find the inverse of each function. Then graph the function and its inverse,

1 i
17) flx)=-1-=x 18) glx)=
5 x-1
Wy = s "
Ay Fx) = 5z-3 , gl(d‘:}:i_'_l
; I —— — x
. * BNLEEN
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j = E ‘ i
i i H H
- | RN
i_ > i f i : i l
! ! ! %! T
B L I b gl i
3
19) flx)=-2x"+1 —x-5
f-l{,{‘} - 13’1-;':1_
Y | uj ya i 2 - 2 Ay g_l{j;;'} =-3x-5
A TN T
: T T By ERE
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Function Operations

Perform the indicated operation.

1) g(n)=n2 +4+2n
Hn)=-3n+2
Find (g - A)(1)

3) x)=3x+3
g(x) =—4x+1
Find (n + g)(10)

5) glx)=2x-5
k(x) =4x+5
Find g(3) - A(3)

7 )=~ +3
W) =413
Find (g - A)(~1)

9 g(x) =-x*~1-2x
Flx)=x+5
Find (g - £)(x)

11) gla)=—-32-3
f(a) =a’+5
Find (g — f )(a)

. Name

Date Period

2) flx)=4x-3
g(x) =x° 4+ 2%
Find (f - g)(4)

4 gla)=3a+2
fla)=2a-4

Find (;;"—)(3)

6) g(a) =2a-1
hay=3a~3
Find (g - h){~4)

) g(n) =3n+2
f(n) =2n*+5
Find g(f(2))

10) flx)=3x-1
g(x) =x% - X
Find (i—)(x)

12) Alt) =2+ 1
et)=2t+72
Find (- g)(z)



13) f(x)=2x" = 52
glx)=2x-1
Find (1 - g)(x)

15) gla)=-34> -4
Wa)=—2a~4

Find (;;‘1) (a)

17) ka)=3q
g(a) =—q’ -3

Find (ﬁ)(a)

19) Alx)=x* -2
gx)=4x+1
Find (o g)(x)

21) glxy=2x-2
Fx)=x* + 3%
Find (g £)(-2 + x)

14) h(n)=4n+5
g(n) =3n+4
Find (7 - g)(n)

16) f (n) =2n
gln)=-n-4
Find (f » g)(n)

18):gln)=2n+3
h(n) =n-1
Find (g o h)(n)

20) gle)=2¢+5
fl)=—+5
Find (g + £)(¢)

22) gla)y=2a+2
Wa)y=-2q-5
Find (g o 1){~4 + )
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Function Operations

Perform the indicated operation.

1 g(n)=n2+4+2n
hn)=-3n+2
Find (g - £)(1)

7

3) hlx)=3x+3
g(x) =gy 1
Find (h + g)(l())

-6

5) g(x) =2x-35
hx)=dx+5
Find g(3) - 4(3)

~16

7 gle)=£ 43

Rty =4r-3
Find (g - n)(-1)
~28

9 glx)=-x—1-2¢

flx)=x+5
Find (g — £ )(x)
“xt-3x-6

11) gla)=-3a -3
flay=a*+5
Find (g ~ f )(a)

2 -
~- = 30—R

Name

Date Period

2) flx)=4x-3
g(x) =x° +2x
Find (f - g)(4)

~59

4) g(a)=3a+2
f(a)=2a~—4

Find (%)(3)

11
2

6) gla)=2a-1
ha)=3q -3
Find (g - #)(-4)

135

8 g(ﬂ) =3n+2
fln)=2n2+5
Find g(£(2))

41

10) flx)=3x~1
glx)=x" - x

Find (i;)(x)

12) Ale)=2¢4 1
g)=2t+2
Find (7 - g)(¥)



13) flx)=2x" - 527
glx)=2x-1

Find (f - g)(x)

45 257 550

15) gla)=-34>-a
h(a) =-2a—4

Find (%)(a)

“3a* - a
2 -4

17) hla) = 3a

19) Alx)=x*-2
glx)=4x+1

Find (h© g)(x)

6y + 8x—1

14) hn)=4n+3
g(n) =3n+4
Find (k- g)(n)

N b
-t

16y f(n)=2n
gln)=-n—14

Find (£ ° g)(n)

~2n—8

18) gln)=2n+3
h(n) =p—1
Find (g o h)(n)

P!

20) glt)=2e+5
fl)=—F+5

Find (g + £)(z)

T 10

22) g(a) =2a+2

21) glx)=2x~2
f(x) =x*+3x h(a) =-2a-35
Find {go F)(-2 + x) Find (goh)—4 + a)
25t =20 -6 A+ 8§
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Solving Quadratic Equations By Completing the Squarepase

Solve each equation by completing the square.

D pP+14p-38=0 2) v +6v-59=0
3) @ +14a-51=0 4 - 12x+11=0
5) X +6x+8=0 6) n’ ~2n~3=0
7 x2+14x—15=9 ' 8 ¥ - 12k+23=0
N r-d4r-91=7 10) x* ~10x+26 =8

1) B2 —dk+1==5 12) b* +2b=-20

Period



13) v -6y =-91 14) n? = 18n+40

15) 5k* = 60 - 20k 16) 6x* -48 =—12«

17) 8x* + 16x=42 18) 9n +79 =—18x

19) 2a* =6 + 84 20) 2x% ~5x+67=0

2D) 4’ + 41+ 36=0 22) Tk* — 16k + 100 =0

23) 10p” +4p+77=9 24) 3x? =—4 4 8¢
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Solving Quadratic Equations By Completing the Squarepate

Solve each equation by completing the square.

D p*+14p-38=0

{—7+\/8_?,—7—\/8—7}

3) a*+14a-51=0
{3,-17}

5) X +6x+8=0
{_25 -4}

7 X+ 14x—15=0
{1,-15}

Name

2y v+ 6v-59=0

{=3+2v17. -3 - 24/77)

4 x*-12x+11=0
111

6) n*-2n-3=0
{3.~1}

8) k¥ —12k+23=0

{6+ 13,6~ /13}

10) x* - 10x-+26=8

—

5+4/7,5-+/7

oot

\

12) B2+ 2p=-20
{1+ 1 - iv10)

Period



13) v* — 6y =—91
3+ivs2,3-ivaz}

15) 5% = 60 ~ 20k
{2} _6}

17) 8x* + 16x=42

1)

19) 24* = -6 +8a

21) 4n” +4n+36=0

{—E N T mz'“\/rgg}

22

23) 10p* +4p+77=9

{—E + 13 -1 13

~ * —
N J

]
4

14) n? =181+ 40
{20, -2}

16) 6x% —48 =—12x
{2 “4}

18) 9n* +79=—18n

{*-3-&5\/?5,-3“@\/5}

3 3

20) 2x* —5x+67=0

[5+is11 5—&«1@}
U s 2

22) 7k* — 16k+100=0

e

4 . f
{8 + 2N}
7

pr———

8—25%’159}

T

L
N

24) 3x*=-4+8x

&
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Graph Transformation Worksheet #2 Name:

Given the graph of f(x), graph each new function and state the transformations.

Jt) A
i t
v . N State the Domain and Range of f/x)
/ 3
; - Pomain;
-?:54-3-2-1 3 45 Range:
H 1 ;!‘P
D fx+1)-3 ) -f(x)+2 H2f(-x)-3
Trans: Trans: Trans:
A i W A
Tt Tt y > TR T s W E T 5
L k v
Domain: Domain; Domain:
Range: Range: Range:
. :
4) 5f(x+l)—2 S f(—(x-1H+3 6y =2f(x-1)~3
Trans; Trans: Trans:
F 3 & L
& ] 5 =
* -5 i 7] E - 1 8 y 7 > * 3 T y 7 »
) 4 b  J
Domain; Domain: Pomain:
Range: Range: Range:

State the transformations. Do not graph.

N 4f(x=7)+12 8) éf(x+11)—20 9) ~5fF(x)+15 10) %f(-(x+5))
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Operations with Complex Numbers Date Period____
Simplify.

1) i+ 6i 2) 3+4+46i

3) 3i+1i | 4) ~8i—7i

5) —-1-8i-4—i 6) T+i+4+4

7) =3+6i—(-5—-3i)-8i 8) 3+3i+8-2i-7

9) 4i(-2 - 8)) 10) 5i-—i

11) 5i-i-=2i 12) —4i - 5

13) (-2 -i)(4 + i) 14) (7 - 6i)}(-8 + 3)

15) 7i - 3i(~8 — 6i) 16) (4—5)(4+7)



17) {2 - 4i)(~6 + 4i) 18) (-3 +2i)(-6 - &)

19) (8 - 6i)(~4 - 4i) | 20) (1-7i)°

21) 6(~7 + 6i)(~4 + 21) 22) (-2 - 2i)(~4 - 3i)(7 + 8i)
23) 5i+7i-i 24) (6i)°

25) 6i-~4i+8 | 26) —6(4 - 6i)

27) (8 - 3 28) 3+7i—3i—4

29) =3i - 6i — 3(=7 + 6i) 30) ~6i(8 ~ 6i)(-8 ~ 8i)

Critical thinking questions:

31) How are the following problems different? 32) How are the following problems different?
Simplify: (2+ x)(3 - 2x) Simplify: 2 + x — (3 - 2x)
Simplify: (24 )3 - 2i) Simplify: 2+ i—(3 ~2i)
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Operations with Complex Numbers
Simplify.

1y i+ 60

7i

3) 3i+i
4§

5) ~1-8i-4-i

~5-9i

7) =3+ 6i~(-5-3i)-8i

27

9) 4i(-2 — &i)

13) (=2-i)4+1)

~7 —6i

15) 7i - 3i(-8 - 6i)

168 + 1267

Name

Date,

2) 3+4+6i
7+ 6i

6) 7T+i+4+4

15+

8) 3+3i+8~2i-7
44§

10) 5i.-—i

th

12) ~4i - 5

14y (7 - 6i)(—8 + 31)

~38 + 69/

16) (4 —5i)4 + )
21— 16

Period



17) (2 — 4i)(=6 +41) 18) (=3 + 2i)(-6 - 8i)

4+ 32 344124
19) (8 - 6i)(—4 — 4i) 20) (1-73)°
6 - 4§ ~ 147
21) 6(=7 + 6i)(—4 + 2i) 22) (=2 - 2i)(~4 - 3i)(7 + &)
56 — 2284 ~GR + 1144
=7+ 3i ~216i
25) 6i-—4i+8 26) —6(4 - 6i)
32 24 + 36
27) (8 -3 28) 3+7i-3i—4
55 — 481 e
29) —3i - 6i - 3(-7 + 6i) 30) —6i(8 ~ 6i)}(~8 — 8i)
39 - 18 ~O6 + 672

Critical thinking questions:

31) How are the following problems different? 32) How are the following problems different?
Simplify: 2+ x)(3 - Zx) Simplify: 2+ x - (3 - 2x)
Simplify: (2+i)(3 - 2i) Simplify: 2+ i — (3 - 2i)
= —1 s0 it leads to a few more steps There is no difference.
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Solving Rational Equations Date Period

Solve each equation. Remember to check for extraneous solutions.

b S
7)l+31;+12=71z—56 %) 21 +_1__: 25

v o ovi=5 v -5 mt-m  m omt—-m
% 1 1= 7 10) 1 1 6

-+ =
n-38 n—8 r=2 P -7r+10 r=2



v+2 Tv-42
+

11y 1=
v—4 v—4

Xt —5x-24 _x-6

13) 1+

3x 3x
15) n+5=1;'_ 6
n+8 n+1
n x2-1‘5x :x:7 -
19) pt+5 1 _p-6

pi+p pPP+p  p+1

20y

=—+1

5r ¥
| = 21 +x—I

X +Lr X
r+5 = 1
rt=2r “r2—2r
a—-2_1_ 3
a+3 a+2

5 4

n e+ 50 n4s

n
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SolVing Rational Equations

Name

Date

Period

Solve each equation. Remember to check for extraneous solutions.

| 1 1
6> 3k &
{5l

6
1,1
6b*  6b b2
{5}
5)—=—§-+1
x 5x

.-'"-M‘I‘*_w\
L | e
lmmv.u...l

1 3v+12 _Tv=356

7 —+ =
)v V-5 vieSy

-
121y

b+6 3 b+4
+ =
4p* 2p: 2p?
{4}

4)

1 1

6

+ =5 =
r—2 rF=Tr+10 r-2



12 Tv—42 —4
W 1= 2 12) =
v—4 v—4 5r 5

f_?ié}
\7
2
—5¢—9 -6 -
13) 1435 25%24 % 14) 1= 21 42Xl
3x 3x X +2x x
{_3?6} {“1}
+5 6 +35 1
15) —=> =1+ 16) =2 1 =—
n+8 n+1 ro=2r ¥ —-2F
17 {4.-1)
3
1 +7 -2 3
17) 5——=220 18) ==X 1=
x° —5x X a+3 a+?2
36} (197
{7; U
+3 i -6 5 4 1
19) 5 ee e L 20) 5= -
p+p pr+p  p+ld n’ + 5n n+S5 =n
{Ag.ﬁi} {_i}
i 4;
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Period

Radical Equations - Part 2 Date
Solve each equation. Remember to check for extraneous solutions.

D N0 ~n=n 2) p=~N2-p

3) V30-x=x 4 x=+8x

5) x=vN42—-x 6) VI2—r=r

7y Vdn=n 8 VSv=v

9 r=+10r 10) m=~v56-m

11y b=~N—4+4p 12) r=~8r

13) ¥-16+10a =a 14) r=~-1-2¢



15) N-45+ 14n=n 16) x=VI110-x

17) Von =n 18) x= 40— 3¢

19) V90 ~7 =n | 20) x=~-70+17x
21) Van+8=n+3 22) —n+en+19=2
23) 4+ V-3m+ 10 =m 24) x~5=x+1
25) n-7=~3n-21 26) b—6=18-3b

27 =3+ Nm+59=m 28) V7a—-54 —a=-6
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Radical Equations - Part 2

Name

Date

Solve each equation. Remember to check for extraneous solutions.

1) v1i0-n=n
{10}

3) V30-x=x
{5}

5) x=~N42-x
{61

7) '\/E:n

{0, 4}

9 r=v10r

{0, 10}

11) b=V—4+4b
{2}

13) V-16+10a =a

(28]

2) p=N2-p

it}

4) x= \/g
{0. 8}

6) V12 —-r=r

{31

8 Viv=v
{0,5}

12) r=8r
{0.8}

1) r=~-1-2r

Mo soluation,

Period_____



15) V-45+14n=n 16) x=«v110-x

{5,9} {10}
17) V9 =n 18) x=+~40- 3x
{0, 9} {3}

19) V90 —n=n 20) x=-70+ 17x

{9} {7, 10}

21) V4n+8=n+3 22) n+Nén+19=2
-1} {5}

23 4+ N-3m+10 =m 28) x-35=vx+1

No solution. 8}

2 n-T=~3n-21 26) b~6=18-3b

{10, 7} 16}
27 =3+ Vm+59=m 28) V7a-54 —g=-6
{s} {5, 10}
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